
8. cvičeńı

1) Derivujte a určete definičńı obor zadané funkce a jej́ı prvńı derivace:

a) f(x) =
2

3
x6

b) f(x) =
1

6x6

c) f(x) =
5

3 5
√
x

d) f(x) = 3 cotgx

e) f(x) = (x2 + 1) lnx

f) f(x) = xex

g) f(x) =
cosx

1− sinx

h) f(x) =
x lnx

x+ 1

i) h(x) = e3x

j) h(x) = ln(x2 − 1)

k) h(x) = arcsin
x− 2

2

ℓ) h(x) = arctg
√
2x

m) h(x) =

√
1 + x

1− x

n) h(x) = ln tg
x

2

o) h(x) = ln

(
ln2

1

x

)
p) h(x) = xx

q) h(x) = sin2(3x)

r) h(x) = (sinx)cos x

s) h(x) = 3x

t) h(x) =

√
x
√
x

u) f(x) =
ex

ax(1− ln a)
, a ∈ R+ \ {e}

v) f(x) = |x3|
w) f(x) = |x− 2|

x) h(x) =

√
x−

√
x

y) h(x) = arctg
1 + x

1− x

z) h(x) = arccos
1

x

α) h(x) = arcsin(ln3 x)

β) h(x) = arccotg
sinx+ cosx

sinx− cosx

2) Určete f ′′′, je-li f(x) = x lnx.

3) Určete f (n), n ∈ N, je-li f(x) = lnx.
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